
Order of Operations Additional Practice Problems 

 

You will need a sheet of paper and pencil to complete this practice activity. For each problem, 

use the order of operations to determine the value for each of the following.   

 

1) 2 +  3 ∙ (8)  

 

  

2) 
  

[ (     )]
 

 

 

3) 37 − 1 ⋅ 62  

     

  

4) 98 ÷ 2 ÷ 72  

 

  

5)  (42 – 2 ⋅ 4)− 23  

 

  

6) 61−22 + 4[3⋅ (10) +  11]   

 

  

7) 121−4⋅ [(4)⋅(5)−12] + (
  

 
)  

 

  

8) 22 ⋅ 3 + 23 (6 − 2) − (3 + 17) + 11(6)  

 

  

9)  
[  (       )]

 
     

[  (      )]

  
   

 

 

10) 
[(     )   ]

 
        

 

  

11) 16 + 08 + 52∙ [(2 + 8) 3]  

 

  

 

 



12)   
[ (   –   ⋅  )]

(    ) 
      

    

 

 

13) 6(2 ⋅ 8 + 3) − (5 ∙ 2) + (
 

 
) + (1 + 8) ⋅ (1 + 11)  

 

   

14) 26 – 2 ⋅ [
      

  
]   

 

  

 15) (10 + 5) ⋅ (10 + 5) – 4 ⋅ (60 − 4)  

 

 

 16) [(62 −1)/ (23 − 3)] + [
(       ⋅  )

(     )
] 

 

 

17) 
  

 
 + 7 − 2 ⋅ 5 (

  

 
)  

 

 

18)  (21 − 3) (6 − 1) (6) + 4 (6 + 3)  
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